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Attempt any Five questions. -
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‘What factors, do Ydu, think; explain the, unprecedented économic

growth observed in Inaié during the period of 2003-08 ? Would -

you agree with the contention that the decline in the growth

- rate after that is irgely due to changes in the global ecpnoiﬁic .
environment ? ' '
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Why, in yom: opinion, 'have the economic reforms failed to produce
medium gnq Iarge scale firms in the labour-mtensnve sectors ?

Do you thmk implementing second generatlon labour reforms

- will res(,l‘,e s problem ? Give 250" in support of your answer.
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“The general lmpresswn is that the agnculture sector has nof ..

bemg domg well i lﬂd‘a but, hidden from the pubhc V|ew,

agriculture performance has 'mPVOVed rapidly in recent years '

Do you agree with the above statement ? Elaborate.
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“Liberalization-of FOfe'g“ Direct Investment (FDI) pohcy may

be necessary but ﬂ°‘ S“fﬁc'em f°r expandmg FDI mflows
Discuss. | ‘
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. ductive officiency in the indusyry » Discuss the
in attaining producti¥®

onfex «t of the privatization debate in India.
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the degree of competition that matters-
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Elaborate the problem of the ‘missing middle’ in the Indian

manufacturing sector. In this context, briefly discuss the causes

of the emergence and persistence of dualism.
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What are the main objectiyes of modern anti-trust laws ? Critically
assess the major strengths and weaknesses of India’s compe-

tition Act 2002 in fulﬁlﬁng these objectives.
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Critic;iliy eXamine the eyjqence that SOWs that India’s services
sector has beep rapidly growing since liberalization, and hag
played an important role in [ndia’s integration with world trade
.t, also briefly comment op the

. In this cont€*
sustainability e Al servinesy (i growth process in future,
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and capital Markets

= A -

4 5,500




